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INSTITUTE OF
TECHNOLOGY USN
Internal Assesment Test -1
Sub: RADAR Code:
_ . . Max Vil . ECE-
Date: 14.5.2022 Duration: 90 mins Marks: 50 Sem: | Branch: AB.C.D
Answer Any FIVE FULL Questions
OBE
Marks co | RB
-
1. Explain Delay line canceller.What are limitations of a Single delay line [10] CO3 L1
canceller.
CO1l| L2
2. Draw and explain n MTI Radar Block Diagram. [10]
3. Write short note on- Duty Cycle & Peak transmitted power [10] CO1| L2
4. Explain RADAR frequencies & applications of RADAR in detail. [10] CO1 L1
5. Explain Digital MTI Processing with block diagram. [10] CO1 L1
6. If the Radar operates at a frequency of 12GHZ, then find the Doppler frequency of [10] CO3| L3
an aircraft moving with a speed of 200KMph.
7. A 10 GHz RADAR has the following characteristics- Pt=250,Pref =1500PPs,pulse [10] CO3| L3

width=0.8 microsecond, power gain of antenna =2500,Smin=10"-14W,Ae=1
cm”2 and o=2m"2 .Calculate- Run ii)Max possible range iii)Duty cycle
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QUESTION- 4

4 A

20 - 200 MHz
1000 MHz

2000 -
-2 Rz
L-4 GR7

0((8 GIR'Z.
§-12 GRz

19-18 GH=z
18- 27 GHz
47 -40 GHz
40-48 GH=
F<-110 QHz
[10- 300 é?Hz
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